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Use€of a non-programmable pocket calculator permissible.

This aper consists of eight (8) pages plus the instructions for completion of a mark-reading sheet.
Th is japer adds up to a total of 70 marks. This mark will be adjusted to a percentage mark.
This zper consists of TWO sections, namely A and B.

Sectin A is compuisory. It consists of thirty multiple-choice guestions that each counts 1 mark The answers to
this selion must be completed on the mark-reading sheet provided.

Sectbn B consists of four discussion type questions You must answer ALL FOUR of these guestions Esch
gquesan counts 10 marks.

SECTION A: MULTIPLE CHOICE QUESTIONS

This :ction consists of thirty multiple~-choice questions that must ne filled in on the mark-reading sheet that is
nIOVIGE!
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1 offers 2 chance ef gain or iosg
' 2. ga /BS T ise to risks but ars not risks themselves.

y (3~ includes t%‘«: oos Q'bi ty of loss only 3 4

4 e iai’e&; to the environ .m-:m surrounding the cause of 1oss

5 indicate the correct statement
1 Speculative risk deals only with those risks that have a loss or no-loss outcome.
27 i “Core business risks include activities, decisions and events thal have an indirectimpact on
- the opsrating profit of the organisation,

s ;j;j The major subcategory of incidenial risks is financial r sk 3

!L,‘ 4 Unsystematic risk arises from events that affect the economy as a whole. 2

B. Varicus factors contribute to the successful implementation of Enterprise Risk Management (ERM),
mc‘aud'ﬁg inter alia:
a { S/rmg and visible support from sen jor management,
b~ Separating the risk-taking activitiss from performasc;e evaiuation Qj -9 U
c . ' Proceeding incrementally and leverag ng “early wins",
d - Treating ERM as a stand-alone process.
Choose the correct combination.
1 ab

{2y ac
3 be
4 c¢d
: AL
7. indicale the correct statement CX L
N individual risks and interdependencigs can beller bg addressas by an inlegraed team.

Z « Traditional risk management 1s consistent and generates reliable reports.
3 zThwo nly objective of risk reporling is to increase 1 k transparency.
4 Business risk management adopts a porifolio view of ail ngks, =77 1
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1Y The destrucuon of 3 factory by = an sxample of
1 fundamental event rigk’
- 2 parucular event risk
3 aperztonal nsk.
4 ncidental risk
11 Which one of the follovang is considered 3 trad; tonal s
K Failure mode analysis
£ 2 Safety management programmes
3 Hazard and operational studies
4 Failure tree analysis
1Z Interms of the King || Report, businesses shouid repo
a transformation poficy.,
b environmental management practices
c risk management pol icy
d remunsration package: of directors,
1 . .
= Choose the correct combination:
17 abc
2 bod
¢ abod
4 acd
13 The need for a more integrated and holistic view of ris
a -change
3 ~globalisation
z -technaiogy
d -increased concentration of risk
2 - the increased value of intangible assets
Choose the correct combination;
P
(1) abecde
7 abece
3 abde
4 acde
14 Which one of the following is a key characteristic of th
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16.

17.

L Captive insurance
c Commercial Insurance
a  _ Swaps

1 zbcd
2 abg
'3 ad
4 be
in assassing nsk itis important to consider

¥

Ao Pk

‘the root causes of the identified risk.

the time horizons for the development of financial statemants.
the top risks currently faced by tha enterprise

the risk attached to intangible assels crucial to value creation.
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19

Which of the following factors is determining in the successful implementation of ERM?

a A positive risk management cuiture

b Effective reporting processes

c Leverage of ‘early successes or profits'

d Acceptance of ERM as an isolated process.

Choose the correct combination:

}abso
becd
aboed
ab

B G B

Indicale the incorrect statemeant:

A common language facilitates communication.
A common language decreases the risks in the organisation.

: environment within which the enterprise onsrate
b he infrastruciure of the enterprise,
the technology used in the enferprise.

i

enterprise has at its disposal

8,
é

Choose the correct combination:

9L

(o

A common language facilitates the aggregation of risks in the organisation.
A common language forms a fundamental building block of enterprise risk managernent.

that may influence the corporate and risk management objectves includs;

[TURN OVER



=1

Prasp ety

21

%,

- -

(%11

MNK20 3 g
OCTINOV 20 g5

- Incident reps
~MNational ;

Standin g ch ffgaé f
— Mear mi

0.0 U W

w
b

LA
——d

Choose the correct combination

1 abcd

2 bed

3 abc
:ﬁ abd -

Which one of the following is not a risk control measura?

Access contral -
Keeping safety stocks
Contingancy plans
fnsurance

EETRI RN

8ix- n‘mth ca 1V Joption is written at a strike price of Paa 00. The opticn premium is R0,25. The
maxket price of the ccmmod{ty at the tims the option s written was R65,85. Four months after the
option is written the market price of the commodi ity rises to R68,75.

Based on the abovementioned information the buyer of the option will. ..

(32576318

1 walk away from the option and lose the premium of RO, 25 QJ‘J ‘SCD e
2 walk away from the option and buy the commodity in the market. ey

3\ exercise the oplion and make a profit of R0, 75

"4

axercise the option and make a profit of RO, 50,

Arswver questions 23 and 24 by making use of the following information:

Company A uses short-term financing by issuing bam’af 5 acaemanceg The treasurer expects short-term

mian:s% rates to nse and wants to hedge hi s nexi-BA-rollover. Assumne the following appliss:
Mominal amount R 10004000
Current date 4 Aprit
Raolio varz’zaiii@mfzm date 20 July
Spot rate on July 20 185
FRA spot rate 156
The freasurs wants 1 hedge the next rc

2
23

In order to lock in his discount rat

NP Y
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2 R33 218

3 R35 808

4 R3 452
25 Indicate the correct statement ‘ 1

33 When buying interest rate [ benef &

2 Wher buying interest rate benefit from a st

3 When selling inlerest rate futures one will henafit from an upward mave in the mar kot

4 When selling interest rate futures one will benefit from = rise in interast rates
28 A organisation’s limit framework should inciude a combination of the follow ng

. !

a. Valume limits

b Fortfolio level limits

e Value-at-risk (VaR) limits {81

d Stop-less limits

Indicate the correct combination:

1 acd

2 abc

2 abcd

4 abd

27. The benefits of including 2 montoring stage in the risk management process include
, a accumulating evidence to support assumptions and the results of analysis "/ \ } }
0 i b -incréasing the cost associated with improper or redundant risk control.
\ i \ ¢ identifying new or changing risks. v
w7 d :

improving, the risk management process as a whole. ®
S RPN F R | P T
indicate the correct combination:

4
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e
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indicate the correct slatement,

1 ging resdlts m higher profit marging
Z buyer of an option comp
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Indizzte the correct statement. N /}, ; \

A\
ion methods provide qualitative means 1o transfey’ avoid
won is & way to Sum

the mutual

and securitize risk.

g

d together in order o
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209

ks

30]

i The credit risk attached to forward coniracis is lowér than that of future contracts
: Future contracts are more liquid than forward contracts. W™
3 ruture contracts tend to be mors expansive than forward contracts,
A Eighisrs bros ot prvvmlio prmmed ey e mr P, e o this s sens fembenr eyt b e
4 Future contracts are normally used to cover currency nsk in the event of international racl e
R : il ’ 5
[1x30=
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SZCTION B: AMSWER AL L FOUR QUESTIONS IN THIS SECT ION
Quaestion 1 )
P TR B S
11 Dizcuss the oo ncepts risk and uncertainty mithin the context of rizk mansgement ( s
12 Expiain the f mua%sons of tha Corrpamps Act 81 0f 1573 'n terms of Corporate Governane 18
. Sl ! ‘%C‘ £ | {1 }
~;
Quesion 2 -
21 Discuss the relationship betwesn an organisation’s objectives and strategies and i risk
management objectives and sirategies Lo (dy
22 dut ne the roles of the Chief Risk Or‘rcer {CRO) m term of

e

of the generic arganizational oVErsIght mode!

C&.',Q'\'-\JL; HERY. T - ‘ (Wﬁ‘ - XW o i
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. . . . J
2 isCuss he mam “‘n“rac‘er%s?% es of ihe enternriss risk management approach (o nsk managemeary;
»”, * i y -~ - \{A’;
z2 Cutline the anv,ronmemaE Taciors that accomozny the successinl 'mplemeniation of g Z05
. framewaorlk, i - . ‘ =y
s
Quesiion 4
41 Sup
10 o th m Bowwcr B who S (L can
foating ds at 18% E rrower Aand the hank agree to enter intg 2
SWED agresment :‘;i‘rlcﬁ Borrowsr A agr%es o pay an additiona fpremium of f% o the bank,
Use the aforementioned set of information to construct a possible interest rate swap transaction
between the two parties. indicate clear! v the benefits accrued 1o gach of the parties involved | in
the aforementioned swap transaction. 16,85, L
47 Eeplam how the cost effectiveness of 2 {:ﬂ: (ds
(10
ff«‘s 210 = Lg{}‘
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